Division par Puissances de Dix (G)

61+10'=

87 ~ 1073

94 + 1073

31 +107"

41+107%=

29 - 1072 =

63 +107° =

18+ 1071 =

51 = 1072

4+10"1=

Trouvez chaque quotient.

62+ 1073 =

69 + 107 =

83 +1073=

75 +10"1 =

45 - 107t =

12 -107% =

15+ 1071 =

23+107t=

28 +107t=

9+10"1=
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Division par Puissances de Dix (G) Solutions

61+10"1=610

87 + 1073 =87 000

94 + 1073 =94 000

31 +10"'=310

41 +107*=4100

29 +1072=2900

63 + 1073 =63 000

18 +1071=180

51+1072=5100

4+10"1=40

Trouvez chaque quotient.

62 +107° =62 000

69 + 107" =690

83 +107° =83 000

75 +-10"1 =750

45 + 1071 =450

12 +1072=1200

15+ 1071 =150

23 +1071=230

28 +1071=280

9+10"1=90
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